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ECONOMICS
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which among the following statements are true for the Revealed Preference Theory ?
Choose the correct answer from the code given below :

Statement :

L Income elasticity of demand should be positive.

II.  Consumers Preferences satisfy strong ordering.

Codes :

(A) Both are true. (B) None are true.
(C) Only Iis true. (D) Only Il is true.

2.  Demand for foodstuff is income inelastic. This is explained by
(A) Giffen’s Paradox (B) Engel’s Law
(C) Gossen’s Law (D) Ricardo’s Law

3.  Consider the following factors :
L Free entry
II.  Advertising
III.  Goal of satisfactory profits
Which of these are part of Chamberlin’s Monopolistic Competition ?

Codes :
(A) All the three (B) OnlylandII
(C) OnlyII and IIT (D) Only III

4. Non-symmetric risk means :
(A) A risk that can be eliminated by diversifying.
(B) A risk that cannot be eliminated by diversifying.
(C) A risk that can be eliminated without diversifying.
(D) A risk that cannot be eliminated.

5. Who among the following economists developed the concept of ‘Barriers to Entry’ of

firms ?
(A) J.S.Bain (B) W.J. Baumol
(C) Alfred Marshall (D) W.S. Jevons
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Wzﬁ
qodA .
.  HOT % 3T A ST T afen |
[ SO STHM Teiet ShHieh i 5 el € |
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(A) TATEEE | (B) WEMTATTIE |
(C) TaRITET | (D) TEFITEE |
2. WR-EEE H A A gotid gt ¢ | FEfeiad § 9 feae gR1 g9 fagia # ufaurea e mer
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(A) T foRremme (B) uf~tew Fem
(C) e fm (D) et fam
3. THfaiad ®Re W e =
[ @dd vew
II. fosmos

[l AT T & e
TTH H I DRI & USIMehR] TaiiTar sl 90T € 2

Qg—d‘:
(A) U A B) fak1aRI
(C) T&®% 1T 3T 111 (D) &I

4.  ITGUMHA STTE@Y 1 3T &
(A) e SifEs 518 faferdiertor o aream § A fomar S g1 ¢ |
(B) e Siftaw {51 foferediertor o aream § |ATST & foham ST Gehel & |
(C) e Sifaw {518 foferdisrtor o T Tare fohan ST gl € |
(D) @& SitEH ST FaT =&l foham ST Fehl |

5. fAfaied § 9 g Telemelt 3wt & ‘FeeT § Sre’ SaERoT fowiad & 2
(A) SUg. o= (B) TS, SHIeA
(C) 3F3hE HARIET (D) T=I.UH. JaH
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6. Even as fixed average cost continues to fall, the average variable cost begins to rise
because

(A) returns to factors start diminishing
(B) returns to factors start rising
(C) input prices start rising

(D) producers budget starts shrinking

7.  Consider the following statements :

L The lowest point on the long run average cost curve is known as minimum efficient
scale.

II. It is the output at which long run average cost curve stops falling.

Choose the correct option from the code given below :

Codes :
(A) BothIand II are correct. (B) Both are wrong.
(C) Only Iis correct. (D) Only Il is correct.

8.  Which among the following is not a characteristic of Imperfect Competition ?
(A) Perfect knowledge
(B) Free transport
(C) Free Entry of firms

(D) Homogeneous product

9.  Which among the following conditions are true for Golden Rule of Accumulation of
Edmund Phelps for optimum capital accumulation ? Choose from the code below :

L Savings rate is unique.

II.  Marginal productivity of capital be equal to capital depreciation.
Codes :

(A) Both are true.

(B) None of these are true.

(C) Only Iis true.

(D) Only Il is true.

10. Which among the following were neglected by Keynes in his theory of employment ?
(A) Role of expectations (B) Role of capital stock

(C) Role of consumption (D) Role of government
Paper-111 4 D-01-14
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(A) TAFE |
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11. Which of the propositions of the past income hypothesis of Duesenberry are correct ?
Choose from the code below :

Statements :
L The current consumption is a function of not only current income, but also the past
income.

II.  There is asymmetrical relationship between income and consumption during
contraction and expansion.

III.  Consumption income relationship is irreversible.
IV. Consumption falls less than income during depression, but the rise in consumption
is much more during expansion.

Codes :
(A) TandIII (B) I,IIandIII
(© LIand1V (D) All the above statements are true.

12. An increase in the quantity of money in the classical macro system will result in :
L Increase in price level
II.  No change in price level
III. Level of output and employment do not change
IV. Anincrease in employment and output
Select the answer from the codes given below :

Codes :
(A) IIand IV (B) TandII
(C) TandIV (D) 1&IIIonly

13. Given below is the well-known LM Curve and its range is marked in three parts. In which
of the marked range Keynes effect does not operate ?

Y
B D
Z ¢
X
. Income
(A) Intherange AB (B) In the range BC
(C) Intherange CD (D) Inthe range AB and BC

14. The theoretical proposition of stable velocity of money is being weakened by the recent
researchers. This has the effect of weakening the position of
(A) Keynesians (B) Monetarists
(C) New Classicals (D) Utopians
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11. SIITERT Hl JAHIT Bt 3T Tl STTHROT o i F FH el & 2 F77 Fe F =57 Hifw
HU ;

[ oHE ST T faF adae o1 afes qd 319 1 HoF ¢ |

[I. Tpod 3R foRaR & SR 31 3K STHT o s STOHiHad Gae 8T ¢ |

[ STNT-3TF Ty SRS el & |

IV. TaE % SR 3T S AU ST H Sl FHH A & fohe], [oaR o SR STAT H 3T

Fg e |
T4
(A) 13RI (B) L II 3 III
(C) LI IRIV (D)  Suded |l e TE E |

12, TRERIETS QA YU § €7 3t TOET 5 gy o TROTHEE 1 ke g 2
. YA HIE
. Yod &R | i a5 Tal
[l 3R TR | HiS G8eld el 3R ISR | g TIeAe T8l
IV. ISR 3R 30 | gy

E T
(A) I ARV (B) I RII
(C) 13RIV (D) oA I 3R I

13. = guies Terud. o5k f3ar e €3I 39 W & diF A § fafed e e € 1 fafera w
% T ST | et TS I Tl @il § 2

NT-8¢
L@

(A) AB WHH (B) BC W™ ¥
(C) CDWREH (D) AB 3R BC WEH

14.  T5T ST & AT i gifaeh YO €Tel i Y F HER Ig @l & | 98 =1 § 9 frgent fefa &
A & T Tohdl & 2

(A) Hia=g (B)  Hwmml
(C) =T Wulremer (D) AEIERT
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15.

16.

17.

18.

19.

Which of the following is the correct assumption for the Lewis two sector model ?
(A) High unemployment in urban sector

(B) Rising real wages

(C) High marginal productivity in the rural sector

(D) Surplus labour in the rural sector

Which of the following is a major indivisibility of Rosenstein-Rodan Model of
development ?

(A) Services (B) Agriculture
(C) Infrastructure (D) Supply

Which among the following statement is true for Marxian model of development ?

(A) Change in Mode of production and Relations in production happen simultaneously.
(B) Change in Mode of production follows change in Relations in production.

(C) Change in Mode of production precedes the change in Relations in production.

(D) Relations in production are not important.

Consider the following statements about the Kaldor’s model of economic growth :
L Investment is a function of profit rate.

II.  Capital is homogeneous.

III. Marginal propensity to save is same for wage earners and profit earners.

Of the above statements which are true ? Answer from the code below :

Codes :

(A) All the three statements above are correct.

(B) 1II and III are correct.

(C) Only Iis correct.

(D) Iand III are correct.

Which one of the following is true for disguised unemployment ?
(A) It has savings potential.

(B) It has investment potential.

(C) TItis asource of expanding production.

(D) Itis a source of social unrest.
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15.

16.

17.

18.

19.
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(B) ScEA-UT § uRed ‘Seared § Gael | Rad T ST A1 ¢ |
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Feel & ATH [ThT o Higdd & oy | & F=faiad seaear 1T fomm i

[ fOsTam T A e |
I ST SHT g & |

L.  ood &l QHid Tgfa aereil 3R o ST e arell <1 o oI JHH it € |

TR Tl § § S | el § 2 A o e W I A

£ T
(A) SIS AT TR T E | (B) I 3RIITEE |
(C) fahIwET | (D) 13RI TEE |

T SRISHIRT & Faiy § fefefad § 9 &9 T8l € 2
(A) TTH U T AT Biell & |

(B) TH% U AT &THAT Bl & |

(C) ¥ 3T H [T A I EA ¢ |

(D) & TSI ST 1 AT & |
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20. In the steady state growth situation in the Solow’s model of growth, the upper limit to
growth would be determined by the growth rate of

(A) Population (Labour supply) (B) Capital
(C) Output (D) Capital and output

21. Which one of the following pairs is not well matched ?

Concept Economist
Learning by Doing L B.S. Minhas

a

b.  Disembodied Technical Progress II.  Joan Robinson
c Golden Age III. Kenneth Arrow
d

. CES Production Function IV. R.M. Solow
Codes :
a b c d
A I 1 1m 1Iv
B) IV 1 I 1I
© o m I II
D) m 1v 1 1

22. A tax is said to be progressive, when the marginal rate of tax is
(A) greater than the average rate (B) less than the average rate

(C) equal to the average rate (D) equal to the marginal sacrifice

23. Assertion (A) : Relatively few private goods are totally rival and excludable.
Reason (R) : Most consumption (and production) has at least some shared aspects.
Codes :

(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are not correct.
(C©) (A)is correct, but (R) is not the correct reason of (A).

(D) (A)is correct and (R) is the correct reason for (A).

24. Methods of debt-redemption include
(A) Capital levy (B) Sinking fund
(C) Debt repudiation (D) All the above
Paper-I11 10 D-01-14
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20. Hiel & Gty Hiea & Fad et Wglg Toedn uRRfd | fawr @t sl g Hefefad § |

fererept gt <2 & Fraifed antt 2
(A) SEE (5 ) B) G
(C) 3RA (D) ST SR Sears

21. frfafead & @ =9 a1 379 gafed T2 & 2

c o P

i

(A)
(B)
©
D)

ST reraTSt
F 3R drar I duE e
FAATH! Tl T I S At
T T Il H" T
T 0H. IR o IV. SRuA. gt

a b c d

I I 1 1v
v 1 I 1I
o 1m I II
a 1v 1 I

22. Todr &Y I o UITHT SheT ST &, STe Y ol ST 38

(A)
©)

3T T | Afaw & (B) WEd T W FH &
3T T % T & (D) IiHid T % seK &l

23,  FfUmU (A) : QRIS T T 5 T a&qd Ui Uiqeadt 3 e g g € |
% (R) : ATHI STHIT (3R 3AE) H H7 T HH o TTE Tee] 8 ¢ |

&<

(A)
(B)
©
(D)

(A) 3 (R) 3T T&l & |

(A) 3 (R) AT Tod & |

(A) TEl &, R (R), (A) T Tel HROT F&1 & |
(A) W&l & 31T (R), (A) I T&l FROTT |

24. FOTUE @ Ggiaal 9 e €

(A) YT oAat (B) e ffy
(C) 01 TR (D) 3w gt
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25.

26.

27.

28.

Assertion (A) : For fiscal discipline, expenditure cap is quite desirable.

Reason (R) : A widening fiscal deficit adversely impacts finances of the Central
Government.

Codes :

(A) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (R)is true, but (A) is false.

Assertion (A) : The debt-GDP ratio of the State Governments witnessed a decline after
reaching the peak level in 2004.

Reason (R) : ‘Debt swap’ scheme was introduced and interest rates were reduced.

Codes :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) (A)is true, but (R) is not the correct explanation of (A).

(C©) (A)is false, but (R) is true.

(D) (R)is true, but (A) is false.

Taxes in List — I of the Union Government as per the Constitution of India include :

L Taxes on consumption and sale of electricity

II.  Taxes on sale or purchase of newspapers and on advertisements published therein
III. Taxes on capital value of assets

IV. Duties in respect of succession to property

Codes :

(A) I, IIand IV are correct.

(B) I, II and III are correct.

(C) II, II and 1V are correct.

(D) II and III are correct.

Assertion (A) : There is automatic change in net tax revenue when level of output
changes.

Reason (R) : Automatic stabilizers moderate aggregate spending in times of boom and
slow down.

Codes :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-I11 12 D-01-14
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29. Match the following :

d.

Sum of price elasticity of demand for exports
and imports greater than unity.

Balance of Payments is the difference between
National Income and expenditure

List -1 List - I1
J-curve effect

—

N

Import quota systems

Empirical evidence showing lower short run 3. Marshall-Lerner condition
price elasticities of exports and imports.

Method to cut down imports 4. Absorption approach

Select correct code :
Codes :

(A)
(B)
©
D)

W W s~ b~ o
B~ = = w T
— A W = 0
[\S 2N \S R \O I \S I = N

30. Which of the following is related with optimum currency area ?

(A)
(B)

©
D)

Optimal geographical area for a single currency.
Optimal geographical area for several currencies whose exchange rates are relatively

pegged.
Single currency or the pegged currencies fluctuate jointly vis-a-vis other currencies.
All the above.

31. Which one of the following is not included under WTO regulations ?

(A)
(B)
©
(D)

Removal of industrial licenses.
Removal of import tariffs.
Removal of foreign portfolio investments.

Removal of price controls.

32. Which of the following statements is true ?

(A)

(B)

©

D)
Paper-I11

Asian financial crisis is generally considered to have started on July 2, 1997 with the
devaluation of the Thai Baht.

Asian financial crisis is generally considered to have started on 2" August, 1998
with the Russian’s crisis.

Brazil’s 1999 crisis is generally considered to be the main cause of Asian financial
crisis.

All the above are true.

14 D-01-14


John
Highlight

John
Highlight

John
Highlight

John
Highlight


29. fAfaRad & e L
i = - 11
a. I 3T At o6 |/ 9°T HEa A B A UH 1. J-9h T
T SuH B e |
b. SPTIH Ge A 3T SR T o o o e ¢ | 2. ST hieT Homedt

c. STVAYT WET % IR Al Sk ST &l 3. HRIel-oX Jumelt
A AT T STCTRTAN T HH AT

d. 3T H HH FH P AH 4. STIRIGUT GREHIoT
Tl e BT =TT A
T
a b c d
(A) 4 3 1 2
B) 4 1 3 2
<o 3 1 4 2
D) 3 4 1 2

30. FfafEd 9 § SF Tead g5 &7 9 gard ¢ ?
(A) THA 5T % oTT TZad Hiiifersh &=
(B) ¢ TETY foet fafma ¥ amder w9 @ Ffved &, & fow seeam oot &
(C) TheA qgT 7 f¥ad S arell qe1eti § 37 qRTST bl qoiT H Fel €9 F SaR-ged Tl & |
(D) ST

31. Tefefed & 9 ®F gy 2t e, fafant § afmferd &t ¢ 2
(A) AT ATEHET Sl TH AT |
(B) 3T UR[eH I THIG AT |
(C) o= qiewhiferar et i TH T |
(D) A E0T Bt TAT HAT |

32, frefafed & & SF a1 FF T8 e 2
(A) QHIE: UG AT S € 5 <ot 812 o 31aqea & 91 2 S[eire, 1997 i uf¥rang foxia
Tehe & B3 |
(B) QA TN WA ST & o6 Tt Tehe o W 2 37, 1998 it TR fariia Wehe I& gol |
(C) Y= THT 9T ST & o6 STSTiet o 1999 T Hehe URTATE faxia Wehe ol T HRUT € |
(D) SUgeR Wl el © |
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33. Match the following :
List -1 List - II
a. Banks that conduct trading in market for Euro 1. Euro currencies
currencies

b. Deposits denominated and payable in dollars 2. SDRs
and other foreign currencies in banks outside
USA

c. Dollar deposits located in banks outside US Euro banks
d. Currency baskets composed of five currencies 4. Euro dollars

bt

of IMF members
Codes :
a b c d
(A) 3 4 1 2
B) 3 1 4 2
<C 3 4 2 1
D) 1 3 4 2

34. Which of the following is true for European Union ?
(A) All member countries have the Euro currency.
(B) All member countries have the same defence policy.
(C) There are no tariffs between member countries.

(D) All member countries have the same taxation policy.

35. When a nation imposes an import tariffs, the nation’s offer curve will
(A) shift away from the axis measuring exports
(B) move closer to the axis measuring exports
(C) no shift will take place
(D) None of the above

36. Market at which transaction will be consummated at some specified time in future is

called
(A) Spot market (B) Current market
(C) Capital market (D) Forward market

37. Capital adequacy ratio of all commercial banks in India is
(A) below the required rate of 9 %
(B) equal to the required rate of 9 %
(C) well above the required rate of 9 %
(D) far below the required rate of 9 %
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33.

34.

35.

36.

37.

FtatEd = faem =

T -1 = - 11
a. % S X R % o0 IR | 2fem e & | 1. =0 gz
b. JTHT. % TR Sk H SoR a7 377 fasel gerei 2. TR,
H geieha 31 T Fv ST
c. JUG. Y e frd o § S SoR 3. T a9
d. SMEURUE % S 9 Hl 4T gHIeT F a0 4. U SR
ST A
E
a b c d
A 3 4 1 2
B 3 1 4 2
© 3 4 2 1
® 1 3 4 2
T T & G § Ffotfad o 9 s W@t € 2

(A) T T < B I G E |

(B) TN HIT 3T I Teh THM I AT & |
(C) TS 390 o e hIE UR[eeh e & |
(D) T TSF S0 Bt FHE B AT ¢ |

ST HIE I ST Feh T § Tl 97 H TES T
(A) e oo arett g3 | STeRT B |

(B) Fatd Ao arett g3t | Hehe 2 |

(C) iE TxeTE el T |

(D) 3IWIF § ¥ HE L |

T IR a8 e wios 4 ot @/ 99T 9 §99=T 8T o el STrT &
(A) @R R (B) = X
(C) Uit IR (D) MRl IR

IRA § et anforoaes sfeht o1 Uit gatear ST
(A) 9 % = aifed T A= & (B) 9 % W FfDd L H GHA &
(C) 9 % ! difdd T Y HIH AUHE (D) 9 % i aitSd 5 H I HH &

D-01-14 17 Paper-I111



38.

39.

40.

41.

Which of the following are liabilities of commercial banks ?
L Capital and reserves

II.  Cash and balances with RBI

III. Investments

IV. Borrowings

Codes :
(A) TandIII (B) Tand1V
(C) I, andIII (D) II, I and IV

Assertion (A) : There was remarkable acceleration in deposit mobilisation of commercial
banks after the nationalisation of 14 commercial banks in 1969.

Reason (R) : There was tremendous branch expansion, rise in interest rates and
introduction of myriad innovative deposit scheme.

Choose the correct answer from the codes given below :

Codes :

(A) (A)is correct, but (R) is not correct.

(B) Both (A) and (R) are not correct.

(C) Both (A) and (R) are correct, but (R) is not the correct explanation.
(D) Both (A) and (R) are correct and (R) is the correct explanation of (A).

Arrange in chronological order, the establishment of the following in India :
L. Industrial Investment Bank of India

II.  R.B.L. working group on Development Financial Institutions

III.  Small Industrial Development Bank of India

IV. Insurance Regulatory and Development Authority (IRDA)

(A LIV, ILI (B) HLLIV, I

(©) HLILIV, LI D) IV, LIL I

Which of the following are term lending institutions in India ?
L Industrial Development Bank of India

II.  EXIM Bank

III.  Small Industrial Development Bank of India

IV. NABARD

Codes :

(A) T&I (B) I IIIand IV
(C) TandII (D) I, I and III
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38.

39.

40.

41.

frefafiaa § 9 @i anfuriess dehi i 3Fa & 2
I YoT 3R eTRfer fafy
[I. e q97 YRS S de6 & a9 3169y

. e

IV. S

T

(A) TR (B) IRV
(C) 1,103 I (D) 1L, I 3T’ IV

AT (A) : 1969 H 14 Sforfszes Sehl & ITLIFHOT & SIG VI Seh & STHT TGI8 H
& aItl A ot |

A% (R) : TErel ol T H IR R gat, &t 53§ g g8 77 %8 Faqul aod A &
T |

T 13T T e | [ II H T

HT:

(A) (A)TEE, fofg (R) W T € |

(B) (A) 3R (R) 31 W&l &I € |

(C) (A) IR (R) I Tl &, fofm (R) Tl AT 1 € |

(D) (A) 3R (R) I el & 3R (R), (A) i T& A& |

IRA H MA@ st TA0HT 3 3TER U HIAHATER TS0 ;
[ YRAE 3fenfites Havr 5%

1. forebr o deemetl et TR S, 31E. B It

Il YR o7 3trenfes faem o5&

IV. s fafames @R faeha mieor (312, R ElT)

(A) LIV, 1L II (B) I 1, IV, II
(C) LIV, LII (D) IV, LI II

IR | Tefeiad | @ i | ety shoETn S ¢ ?

[ 9RAE f=nfiTes fawe d%

IR E S D

Il YR o7 e [ e

V. =g

FT :

(A) 13RI (B) I II3ARIV
(C) I3RII (D) 1,113l
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42.

43.

44.

45.

46.

47.

Which of the following are included in broad money (M) in India ?

1. Currency with the public 2. Demand deposits with Bank
3. Time deposits with Banks 4. ‘Other deposits’ with RBI
Codes :

(A) 1,2&3 B) 1&2

(C) 3&4 D) 1,2,3&4

Assertion (A) : The minimum rate at which the Central Bank is ready to lend is bank rate.
Reason (R) : The bank rate is determined by demand and supply of money.

Codes :

(A) Both (A) and (R) are individually true and (R) is correct explanation of (A).

(B) Both (A) & (R) are individually true, but (R) is not the correct explanation of (A).
(©) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Delhi has very high density of population.

Reason (R) : People from rural areas are migrating to Delhi.

Choose the correct answer from the code given below :

Codes :

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are correct and (R) is correct reason for (A).

(C) (A)istrue, but (R) is false.

(D) Both (A) and (R) are true, but (R) is not an adequate reason for (A).

An stable population is characterised by
(A) Constant birth rate (B) Unchanging age structure
(C) None of the above are true (D) Both the above are true

Which of the following is true for Net Reproduction Rate ?

(A) TItrelates to average number of daughters born to a female.
(B) Itrelates to the life span of a female.

(C) Both (A) and (B) are true.

(D) None of (A) or (B) are true.

Which option is true for population dividend to manifest ?

(A) Population in the age group between 0-7 years is likely to increase.
(B) Population in the age group between 8-15 years is likely to increase.
(C) Population in the age group between 15-64 years is likely to increase.
(D) Population in the age group above 65 years is likely to increase.
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42,

43.

44.

45.

46.

47.

TR # Fferaa § € S fagd q51 (M) W et o < € 2

1. ST % 99 qg1 2. % % UIg HiT S

3. S % U9 gty S 4.  IAR.IME F UG S AT
BT :

(A) 1,233 (B) 13R2

(C) 334 (D) 1,2,3 34

ATTHU (A) : I8 FATH X N W H=1T & 0T 4 Bl 79K &, 39 5 3 Fadl ¢ |
% (R) : 5 S BT I BT Y MY T FR FHar e |

YA

(A) (A) 31X (R) AT TTT-3TTT Tl § 317 (R), (A) Tl T&l AT ¢ |

(B) (A) 3 (R) I 3TT-3T7T Tl & 3 (R), (A) i Tt = e € |

(C) (A)TEE, fog (R) T € |

(D) (A) T €, fofmg (R) WET 7 |

AT (A) : TSoell § G &1 Te Sga A & |

T (R) : TTHIOT &30 § AT fooatt o s © E |

e ST T e | ¥ Hel ST H I A

T

(A) (A) 3R (R) I ToAd & |

(B) (A) 3 (R) W&l & 31 (R), (A) T T&l HROTE |

(C) (A) W@ E, foog (R) T & |

(D) (A) 3R (R) I W&l &, 7= (R), (A) & feTw waied swror & & |

TR SFEE %t = o g &

(A) ferR ST (B) SuRadsiiet 31g gien
(C) 3w H T P Tel el ¢ | (D) 3Uge ST WEl € |
THeeT GAYSTA §X % He | (9 | i Tel ¥ 2

(A) I Tt OfeeT T 30T g8 Uit i 3iiad 9 9 Hefua ¢ |
(B) 7% Tl AfeeT i ST 37afy & Hefad & |

(C) (A) 3R (B) 3T Wl & |

(D) (A) 3T (B)H ¥ HIET T =& |

TEETA BN ATt SHifhehig SISt % WeY ¥ i 9T forhed Tl € 2

(A) 0-—7a9 % g o aTct Tedi Dl SHEE H iy & o TAET & |
(B) 8- 1599 % 37 ol et areell oht STl | gfg & ot THeT & |
(C) 15— 64 a9 & 3T a7 & AT ot STHEET H gy g Bl e ¢ |
(D) 6599 ¥ ATk 31g o % AN Dl SHEE H Jig & o TAET & |
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48. Which one of the following is the correct sequence of development of sectors in India
post-independence ?
(A) Agriculture, Industry, Service
(B) Service, Agriculture, Industry
(C) Industry, Agriculture, Service
(D) Agriculture, Service, Industry

49. The term HY VP in new agriculture strategy stands for
(A) High Yielding Variety Pesticides
(B) High Yielding Volume Production
(C) High Yielding Varieties Programme
(D) High Yielding Volume Programme

50. If more & more capital and labour are applied to a fixed piece of land, the system of
cultivation of farming is known as
(A) Intensive cultivation (B) Extensive cultivation
(C) Cooperative farming (D) Double cropping

51. Mention the crop where Green Revolution is the most successful one
(A) Tea & Coffee (B) Wheat & Rice
(C) Wheat & Pulses (D) Jowar & Oilseeds

52.  Which of the following is not an item of social security of labour ?
(A) Wage (B) Maternity benefits
(C) Pensions (D) Industrial Injury Compensation

53. Which of the following is correct about the Contingent Valuation Method (CVM) used in
Environmental Economics ?
(A) Itis used only for pollutants.
(B) Itis used only for items with positive utilities.
(C) Itis used for items under market failures.
(D) Itis used only for natural resources.

54. Which among the following is not a cause of sickness of industrial units in India ?
(A) Obsolescent technology
(B) Lack of capital account convertibility
(C) Labour problems
(D) Faulty location
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48.

49.

50.

S1.

52,

53.

54.

TSI T9ET WA | & o o7 T@t e FEfeiaa 8§ 9 e ?
(A) Y, ST, e (B) War, Ty, 3T

(C) =, S, e (D) P, Far, 3T

T2 I I § TaamE ., etaiad 5 3 feaen gt 7 8 2
(A) BT HfeeT RTeet ufearsed (B) & et afegd WeaH
(C) e difesT Rz T (D) &TE e diegy uim

g Tt Frad qa@E W At GoT ST 19 1 WA fhaT ST & o T Y 30 Ui hl el
ST &

(A) T B (B) forgge v
(C) TeHr FH (D) Towheett H
TEeT T A Fad 5ok Ged | 2R shifa Haitys q%d @ ¢ |
(A) = AR Bkt (B) T R =
(C) T 3R ToTe (D) SOR 3R faereq

fefefEd & | I T 9H 1 QAT GOT 9% 76l ¢ 2

(A) T (B) HIGc e
(C) dem (D) airefie =i wfagfa

frefafed & & 9 @1 T@eRvig S § SUEnT § oY ST Aol 3hRHe Jodish JuTet
(@ ETE) F I T 7 2

(A) TTHT TN heeT TEHUTHRT & foTT foham SITem & |

(B) SHHT TANT heiel WhRIcHD SUFITAT ! Tal o forw fepam ST & |

(C) TP YANT ST Toohetal st T81 & foTw fepam ST € |

(D) 3T UGN heeT UTehideh ST o feIu feopam ST & |

frfefad o & &9 91 YR H ST SehTal ol ST0TaT ol ShRUT T8l § ?
(A) I St

(B) ST i@t gRerd=aear T Snre

(C) =ftes THEm

(D) Pl et
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5S.

56.

57.

58.

59.

60.

Assertion (A) : In India, the traditional small scale industries have greater employment
potential than the modern small scale industries.

Reason (R) : The value of capital per worker in traditional small scale industries is small
than the value of capital per worker in modern small scale industries.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

For the year 2012-13 procurement of wheat has been largest in which of the following
States ?

(A) Punjab and U.P.

(B) U.P.and M.P.

(C) U.P. and Haryana

(D) Punjab and Haryana

For the year 2013-14 arrange in descending order, the contribution of following taxes as

percentage of G.D.P. :

1.  Income Tax 2. Service Tax
3. Corporation Tax 4.  Excise Duty
Codes :

(A) 4,2,3,1 B) 3,1,4,2
©) 2,3,1,4 D) 1,2,3,4

Which of the following facts are correct about the Competition Commission of India ?
L It was established in 2003.

II. It was established on the recommendations of Raghavan Committee.

Codes :

(A) BothIand II are true. (B) Both I and II are not true.

(C) Only Iis true. (D) Only Il is true.

The base year for newly developed All India Consumer Price Index Number — Rural C.P.I
and Urban C.P.L is

(A) 2004 -05 (B) 2006 —07

(C) 2009-10 (D) 2010

On the basis of 10 parameters for the ‘ease of doing business’, World Bank’s latest report,
during the period July 2013 to May 2014, India has come to which of the following

position ?
(A) 138 (B) 142
© 144 (D) 146

Paper-I11 24 D-01-14


John
Highlight

John
Highlight

John
Highlight

John
Highlight

John
Highlight

John
Highlight


5S.

56.

57.

58.

59.

60.

AIWHYT (A) : RA § Y T I Sl JoT | TWORNTT & Je i ISTIR ITcTed Tl

T &THAT AHH T |

A% (R) : TR o1 ST H Uid Sk Yoit o1 Jod, Y ofg ST § Uid SHe 45T & Jod
! I § HH BT & |

B :

(A) (A) 3T (R) I &t & 31X (R), (A) H el AT E |

(B) (A) 3R (R) T Wel €, e (R), (A) Tt Tl AT T8 ¢ |

(C) (A) W@ g, foog (R) T € |

(D) (A) T €, fofmg (R) WET 7 |

frefafaa ot § 9 fore T gRT a9 2012-13 % SR 71 31 Faiereh T g1 ?
(A) TS SR ST WY

(B) TR URY 3R HeT URET

(C) TR WS 3R gharom

(D) USTE 3R gRAToT

g 2013-14 & forw fr=fafEad a1 @ Fehet Be] 3T o UfaeId TR & TR T 3TaRE! 6
q I

1. T 2. WO

3. MmE 4. 3T Poh
T

(A) 4,2,3,1 (B) 3,1,4,2
(C) 2,3,1,4 (D) 1,2,3,4

IRATF el ST o Hey | ffafad a2l @ 9 o9 J91 92 8 2
I SH& ATy 2003 | gE ot |
II.  9eh! TATOAT Tee GHfd o Faiet o ge off |

e
(A) 13RISH & | (B) I3 IISH Wl T&I¢ |
(C) HTATTIE | (D) HoANTEE |

TIGRT 31TEeT YRR ST God Gashich, — ATH0T 91Ut 37E, T2 984 |1.91.37E, & forw emem
ag g

(A) 2004 -05 (B) 2006 -07

() 2009-10 (D) 2010

‘A HA B GIHAT & 10 IS & MER W {ave 5 & g7 & {uie & AR Sers
2013 | T 2014 i 276 & I TR T 6T TIF W 30T E 2

(A) 138 (B) 142

(C) 144 (D) 146
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61. Which is false in following ?
(A) The duration of Tenth Five Year Plan was 2002-2007.
(B) Ryotwari tenure has been the intermediary in Indian land system.
(C) Zamindari system was introduced by Lord Dalhousie.

(D) Mahalwari land tenure system was introduced in Agra and Oudh.

62. The Financial Sector Legislative Reforms Commission 2013 submitted its
recommendations on the following aspects :

L Legislative II.  Non-legislative
III. Marketing IV. Advertising
Codes :

(A) LILIV (B) LILII

(©) I I, 1v (D) L1

63. Which of the following States had the lowest women employment percentage under
MNREGA programme during 2013-14 ?

(A) U.P. and Rajasthan (B) Odisha and M.P.
(C) U.P. and Odisha (D) Rajasthan and West Bengal

64. In a growth model given below :

S,;=aY, O<ax<l

L=BlY,-Y] B>0

S, =1,

Growth requires the condition :

(A) B_ELOC >0 (B) B_ELOC <0
©) BS‘OL>0 D) Bi‘oc<0

65. Given total cost function C = 5Q% + 20Q + 5, at price =X 5 marginal cost is
(A) 100 (B) 200
(C) 85 (D) 70

66. For testing the significance of overall regression the test to be used is
(A) tTest (B) F Test

(C) x? Test (D) d Test
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61.

62.

63.

64.

65.

66.

fr=ferfad & @ =i TTora € 2

(A) THET YEEHE ST @0 3Ee 2002-2007 ot |

(B) WRdT 9 yomedt # Yadaret Hrematy gezedt &l Y |

(C) STHERI WUl T STRY TS Seist gRT fohar T o |

(D) TeEaTE! YA HATErY JUMe! RT3 a8 H IR 6 74 o |

forit=r &3 foremelt gum 3w, 2013 3 Fefaiad Teesti o -t Fawiiet TRd &

I foumr . oy
. foqom Iv. fasm=
%

(A) LILIV (B) L IIL III
(C) 11, I, IV (D) LII

T 2013-14 & S “HRIT HEHH & S (=iorad § 9 foog Tat 9 Afgelr UsT &
TTaTd Ted BT o7 2

(A) I IRY R T (B) 3TEIM 3R eI =T
(C) 3T W™ AR aAfewm (D) TR 3R e et
A U TTw TR g 1
S,;=aY, O<ax<l1
L=BlY,~ Y, B>0
StEIt
forenTa o foTw =7 e 1 91a e7aferd € 2
B B
(A) §og>0 B) - <0
o o
©) §_g>0 D) g-g <0

T T et o 1 C = 5Q7 + 20Q + 5, 3K HiHd = 5, aF TEid AT = 5 F 947 8 2
(A) 100 (B) 200
©) 85 (D) 70

TuY AfqTEA i FrehdT & TeTor & FEfeiad § § fg alieTor s uEeT fohar e 2
(A)  tTteror (B) F ulieroy
(C) x> e (D) d vl
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67. Including relevant lagged values of the dependent variable on the right hand side of a
regression equation could lead to which one of the following ?
(A) Biased but consistent coefficients’ estimates
(B) Biased and inconsistent coefficients’ estimates
(C) Unbiased and inconsistent coefficients’ estimates
(D) Unbiased and consistent coefficients’ estimates

68. In the production function Q = AL?K® match the following :

List-1 List — 11
a. a+b=1 . a
b. Elasticity of substitution ii. b

c. Labour elasticity of output  iii. Constant Returns to Scale
d. Capital elasticity of output  iv. One
Codes :
a b c d
(A i i i v
B) i i i v
©) i v i ii
D) i i ivod

69. Match the following :

List -1 List - II

a. Box-Jenkins i.  Causality Method
b. Unit-root test ii.  Forecasting
c. Durbin-Watson ‘d’ statistics iii.  Stationarity
d. Granger Test iv.  Auto-correlation
Codes :

a b c d
(A) il i i v

B) i il iv i
©) i i i v
D) iv i i il

70. If OLS is used in the presence of auto-correlation, which of the following will be likely
consequences ?
1. Coefficients estimates may be misleading.
ii.  Hypothesis tests could reach the wrong conclusions.
iii.  Forecasts made from the model could be biased.
iv.  Standard errors may be inappropriate.
(A) iiandivonly (B) 1iand iii only
(C) 1i,1iiand iii only (D) 1i,1i,iii and iv
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67. UiTHeH THHIOT % ST oRE ST TR % Fd Uvd Jo Siig 3 e af Heteiad & 9 &= 9@
feafer st 2

(A)
©

A Tohe] T T[UTIehT T 3o (B) 3TN 31 3TE T[OTIehT T 3ot
SN ST 3T U T 3o (D) ST ST G TOThT T TTHeTT

68. 3TEA FE H Q = ALK, ffafad =t gaferd & :

i | = - 11

a. a+b=1 1. a
b. eI Hf &g ii. b
c. STUEA i 5H A iii. oM = R ufawa
d. 3R S ST oA iv. w®
HT:

a b c d
(A) i 1i i 1v
B) i i i v
© iooiv i ii
(D) i i iv i

69. AR I FHAT BT :

| = - 11

a. S-SR i, e fara
b. THE-TT TIET0 ii. YIAA
c. SloA-amedT ‘d’ |t iii. faear
d. TS gdetor iv. @ geqey
HT:

a b c d
(A) i i i v
B) i i iv i
© i i i v
D) iv i i i

70. @ GEgeY i Ut § It OLS &1 wEnT far Sien €, o Hefaiad § | 9 @ gvifad

RO B 2
i. Ul VTR YT & Fehd © |
ii.  OReHeTT TETOT Totd fhY UX Ugd Wbl § |
fii. Wil % SR W T 747 Yaiam —aged & ol € |
iv. O Jfeat U & Tehdl ¢ |
(A) T ii W iv (B) T\ i 3 iii
(C) fa®i, i 3R iii (D) i, ii, iii 3T iv
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71.

72.

73.

74.

75.

In the context of simultaneous equations econometric models, consider the following

statements :

1. Identification is a problem to be dealt with before estimation.

ii.  Order condition is necessary but not a sufficient condition of identification.

iii. Two-stage least squares method of estimation gives consistent estimators if the
equation is under-identified.

iv.  Under indirect least squares method, least squares method is applied to reduced form
equations.

Which of the following is correct ?

(A) iandii (B) 1i,1i,iii and iv

(C) 1i,1iandiii (D) i,iiandiv

Simplex method is used for solving the problems of
(A) Linear Programming (B) Input Output Analysis
(C) Regression (D) Correlation

Which statement is false in following ?

(A) t-distribution was given by W. Gosset.

(B) Tippet’s Tables are used for random sampling.
(C) Binomial distribution is symmetrical if p =q.

c
(D) The regression coefficient of y on x is equal to r G—x .
y

Given that LM function is Y = 100 + 101 and the IS function is Y = 160 — 201, find the
correct value of equilibrium level of income and rate of interest from the given options.
(A) 120 and2 (B) 90and3

(C) 150 and2 (D) 120 and 3

In a two industry case, for the Simon Hawkins viability condition which statement is
correct (aij; i=1,2andj=1,2)?

l-a;, - } { l-a;, - }
(A) <0 (B) >0
|y l-ay -2y l-ay
a4
©) >0 D) (1-a,)(1-ay)—a,,.ay,<0
| 73y Ay
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71.  FTUS GHIHIOTER SR diect & G5 | fHEfeEd Hem T foar
i 3Te ¥ Yo AR i EET § AT el € o
ii. A I ST § o] TeaM % foT T T8 € |
iii. 3The i FERIT =g o1 fafy e 3Mehereh ST ATE THIHIUT ST &l |
iv. emvcaer = o fafy & oiarid =g o fafy @l STt &, afg gl & gifad ureg & |
fr=fafad 5 9 = 91 98 € 2
(A) i3Wii (B) 1, ii, iii 3 iv
(C) 1, ii 3 iii (D) i, ii 3 iv

72. T=fafEd 9 & forae! THET o GHHM S o 0T Tareiss Toret st 9=t fohar ST & 2
(A) Es T (B) T 3care fergetyor
(C) e (D) wegsyg

73. ffafEd 9 § S 91 goeT Told € ?
(A)  t-SF T AR T&6g, T T fokall 7T |
(B) feue difetent =t v aArgiese Uidea &q fohar STar € |
(C) TEusH s gufafd aiar &, A p=q & |

()
(D) nyﬂﬂQ‘f?ﬂTﬂ?‘Fﬁ‘cﬁrG—x F RETEAT T |
y

74, THEFEILM T EY = 100 + 10i &M IS TR € Y = 160 — 20i, A Iqei H 3T T N 53
T FIE | 3T 1 F2 T gH
(A) 12092 (B) 9073
(C) 150a2 (D) 12093

75. T S % TG H AEHA-EIRT AT I % fIw fetatad 3 S 91 e 9 § 2
(a1=1,23Rj=1,2)

l-a;, - } { l-a;, - }
(A) <0 (B) >0
| oy l-ay -2y l-ay
a5
©) >0 D) (1-a,)(I-ay)—a,.a, <0
| 1 dp
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